0000 I(0oO:0000) 20180 40 260

1 U0oooooooooogon

1.1 ODogogoooboogood

gbooooboob,1roogbb0 1 sogboogboobbobboobobbo
gg,boggg,buogggbooboogobobboooobbbuooonbn.

00 1.1 000 n=1,23,...00000 k=0,1,2,... 000,

n o
nkJrl J

Iy
z=2<j>3jm. (1.1)

i=1 j=0

ERERN

O,B,0000000000000.

ud 1.2 000

i(k—;1>Bj:k+1 (h=0,1,2,...) (1.2)

J=0

0000000 By, By, B,,... 0000000000,

U0 1.3 000000 By, B,Be,... DO00O0ODOOODOODO, 000000000
oo.

00 14 0000000000 JoO0O00OO00OCOO.0O00,000000 BO
0000oooooo (ooo Blz—%DDDDD)DDDDDDDDDDDD.
000,0000 2000000000000 OO.

00 1.1000]

gog.oo,b0og0o



O0,k>10000000. 200000000000
" k+1

(m+1)k+1_mk+1zz . m?
=0 J

0000,m=1,2,...,n000000000000

(n+ 1) — Z(’““) ()

E+1
k

&(n)zﬁl{(nﬂkﬂ (’”1) <n>}.

000000,k=1,2,... 0000 S(r)000000000000000000
0.00,000000,8(@0n0k+10000 (000000 1/(k+1))00
0Doooooo.

000,000000,2000000 S(x) 00000000, 00,0000
n=1,23,... 000

DDD.DDD,( >:k+1DD

Se(n+1) = Si(n) = (n+ 1)

000000,000,0200000 f(z),g(x) 0000, f(n)=g¢(n) 00000
000 n00000O0O0O0DODO,0000 f(z)=g(z)yDO0OODOODOOOODOO,
goooon

Se(z 4+ 1) = Sp(z) = (x + 1)k (1.3)

godood. oo szDDDD,Sk(l):lﬂﬂ,
S(0) = 0

000.000 Sy(z) 00000 0000.
000 S(z) 00000000000000000,0000000 SY(0) (=
,...,k)00000000000000.0 (1.3)0 2000000000

1
Si(z+1) = S (x) = k(z + 1) (1.4)
0z=01,...n—10000000000,

Si(n) — 5}(0) = kSi_1(n)



O000.0000000000 0000000000, B,=S,(000000,
gooooooo,
SY(x) = kS, (2). (1.5)
r=00000
Sllel(o):kBk—l-

k=10000000000,k>20000 (15 0000000,00 (1.5)0 k
Ukr-100000000O0O00O0O,

Sk (x) = kS (x) = k(k — 1)S;_5(x).
000 2z=00000,
SP"(x) = k(k — 1)By_s.
0000000000000000,
k!
(k—j+1)!
ooo0.o000,S8%0)=8(0)=0000000,

E+1 ~(5) E+1 ~(5)
Sk(l') — Sk (O)xj _ Z Sk (0)

SV0) =k(k—1)-(k—j+2)By_js1 = Bijyi (1=2,....k+1)

k+1 k+1

k! . 1 (k+1)! ,
= " B a1 = B .. 1)
Z 1k —j+1) k—j+1T k+1z(k—j+1)!j! k—j+1T

j=1 J j=1

k+1
1 k41 .
- k;—+12<k—j+1>3’”“xj

J=1

k

1 I<:+1> e . .

= —) | Bt (- k—j+10000;000)
/{:—1—1],:()( J

O00. Sy(1)=1*=100000,000 x=1000000 k+100000,

k
k+1zz<k+,1>3j,

=0\ J
000000 1200 (1.2)000.00,

1 k+1) k! 1 K 1 k
k+1 j SN k1= k+1—3 k=5 k+1—75\ j

0000000 (1yooooo. U




00 1.5(0000000000)

00000 (000,000000000000000t).

00000 e—-10000 te! 00000000000:

t Bi ; ot OoBiz‘ OOOOBiiJrj
=025t = (ZT) (ZW):ZZW

00 1.6 00 {B} 0000000000000, 00 1500000000000
00000000 (00000000000000000000 B;0000000
0000). 00,00000000,0000000000 B,=-:0000000
00000 (0000 [2]00000)00,000 X —¢t=4-000.00,0

00000,000000000000 B;O (-1)yB,000000OO0OOOOOO
ggooobogg.

01l17:0 30000000000, B;=0.

t

[00]00 150000 1000000000 X -t0000000000000
0D,000000,00t——t00000000000000.¢t0 —+00000
oooo,

(et  (=t)  —t t t t tet t
et —1 2 1l—et 2 et—1 2 et—1 2

gogobob,ooobn. U

!0000000000000,000000000000000000 (0O0OO0 [1]0 §1.3,81.4
000). 00,0000000000,000000 |¢(l<2r0000000000.



1.2 00000000

0000000000 Se(z) 000, By(z):=S,(x—1)0000,0000000
000000000 k00000000,
000000000,00000000 (1),(2),3),4 00000000000
00.00000000 (100 (2),0000 200 (1)0000000000 (O
000000000,00000000000000).

00 1.8 (1) 0 k=0,1,2,... 000, By(z) O

(4) Be(l) = (~1)*Bu(0) = B, OO,

0oo00o0D0O0O00000.
(2)0 k=0,1,2,... 000, By(z) 00000D00000000000:

x+1
/ By(y)dy = 2"

(3)(000)0000000D (D0D,0000000000000002):

te®! = Bi(x)
=> o t*. (1.6)
k=0 '

et —1

(4)(000000000O0ooon)

k

Bi(z) =Y (—1) ( ’; ) Bjz*  (k=0,1,2,...).

J=0

[0O0](1)(0D00) f(z),9(z) O (a), (b) 0000000000, (a) D0 £(0) = g(0)
00000.00 (B0 2=0,1,2... 000000000,0000 n=0,1,2,...
000 f(n)=¢(n) D0000000D0. 0000000 f(z)=g(x)000.

(Bp(z) O (a), (b)) DODOOO0O) Se(z) =200 By(r)=Si(x)=1000,k=0
0000 OK.£k>1000.0000,0000 (14020 x—10000000
() 00O0. 00,00 11000000 By(1)=8,(0)=B,000. 000 (b) O
r=0000000 17000 () 0OODO.

(2) 0000000000 Q00000000 QUODO0 I: Q] — Q] O

Kﬂz/mf@@ (f() € Qla))

D000000000000,000000000000000000. 00000000000,
000000 jt|<2r000000OCOOO.




goooo.

z+1 z+1
I(z") = / i Y dy = L y" _ L (z+ )" 2™} =2"+(0000)
- n+1 - n+1

000,70 Q000 1,z,2%4%... 00000000,00000000 100

0000000.00 70000000, 00, Byz)=S,(x—1)00000 (1.3)
oo,

I(Bg(z)) = /»’v Bi(y)dy = Si(z) — Sp(x — 1) = 2.

000 By(x) D I000O0 I"'000 2*00000.
(3)t000000000000,0000000 /JODO0O00O0O00DOO,
iI(Bk(x))tk_ - I_ktk_ezt
k! N kO

k=0 k=0
O00.00,000¢t00000000000 I0000000000,00000
(X)) = I(e™) 000,000
z+1 (z+1)t _ ea:t 6t -1
[:L‘t: ytd:e — xt
(™) /m e’dy " ¢
000, I(&)=¢*. I0000000,000000000.

et—1

(4) By(z) =1000,k=00000 OK. k>1000,0000 (150 20
r—1000000,

Bi(x) = S{(x —1) = kS, _y(x — 1) = kBj_1(x)
O00. 0000 z=00000,(1)0 (2000,
B, (0) = kBj_1(0) = (=1 'kBy,_,.

gb 1li1o0boooboobobbobooboob,

k! .
WBk—j (]

BY(0) = (—1)* —0,. k)

0ooo. o000,

k
, R A
— Nk )
x) = E (—1) ]j!(k‘—j)!Bk_]x]

J1(k — )

(—1)] ( k ) le‘k_j.
— j

k
7=0
K A ‘
— Z(—1)J—',|Bja;k—ﬂ (« k—jO0000 3000)
j=0
k
7=0



0 1.9 (1) Bi(z) = kBy_1(z) (k=1,2,3,...).
(2) By(1 — 2) = (—1)*By(z) (k=0,1,2,...).

[00](1)000 1.80000000000.
(2)0000000 (1.6) 00,

> By(1 — a:)tk _ te(l—o)t _ te (—t)es=D _ i Bk(x)(_t)k
k! et—1 1—et et —1 k!
k=0 k=0
-y L
k=0
gbogobgooboboo,oobgon. U

00 1.10 00000000 By(z),Bi(z), By(z),... 00 000000000000
ooo.

g 111 ggooboooooobboooooon

Z & Bryi(n+1) — Bep
k+1

ggbooogoon.

00 1.12 00 y=B,(z) 00000000,0000.
(1) x0D0OD000,y=B,(z) 0000000 z=.000000000.
(2) k000000, y=B(z) 000000 (L0)000000000.

29

1.3 000obouobobooood

ggbbobuoooobbbooooobobboodoboboboooooon:

: 2m—+1 .
sint = E mt s cost = E

m=0

m
RW

ggob,ggoobobodo

sint cost
tant = , cott = —
cost sint

gboboobboooboooboo. ob,bo0booobooboboobobon
goooogon.




go,bogoobboboooooboooobbobooon,

et — et & t2m+1 et + et o Z52771
sinht = = — ., cosht = =
K |

2 = (2m+ 1)! 2 <= (2m)!

gobobogooobooo,ogobboodbboo.gb,ooobboooooo
gogbooodg

sinht et —e™? cosht el +e7t
= , cotht= =

cosht et +et

godogo. oo oooooonoooooag.

tanht =

sinht et —et

00 1.13 tant, cott, tanht, cotht 0 ¢t =00000000000 (D0OOO0OODO)
ggbooogoon.

0 (_1)m—1(22m . 1)22mBQm o1
tant = » 2=t (1.7)
— (2m)!
1 S (_1)m22mB2m 2m—1
cott = z—FZWt R (18)
m=1
0 22m _ 1)92m 3 "
tanht = Y ( (2731)' 2m gam=1, (1.9)
m=1 )
1 2By oy
cotht = ¥+ . “om) t : (1.10)

[00]000000000D0O (00 1500 1000000000DOO00OOO, O 1.7
ggbobuogoobboood,

tet E B i Bs,, t2m

e—1 2 £=(2m)
oo,
tet ot tel—Let+l ot 41t ezter ¢
— == =—-— - = —coth =
et—1 2 et —1 2 et—1 2 ez —ez 2
ooo,

t t = B
“coth— =Y 22m g2m
2“3 mzzo (2m)!

0000 ¢t0 2000000000 ¢t0O000O, (110)000. 00,

¢, -t ¢t t o —t\2 t o —t\2 2% |, -2
cotht + tanht — et +e +e e :(e +e )+ (ef —e™) :2.6 +e
ot — et | et 4ot (e —et)(el + e ) o2t _ o2t
= 2coth(2t)



ERERN

1 o 92m ZQmBQm

1 2B,
tanht = 2coth(2t) — cotht = - LY UL L
an coth(2f) —cotht =2+ 3 2m)! i 2m)!
m=1 m=1
= i 227” _ 22 B2m t?m 1
m=1
ooo, (19 o0oo.
00,0000000 eV 1t =cost++/—1sint 000,
\/71‘, —/—1t 2 t 1
coth(v/—1t) = re = COS. = cot t
eV=lt —e=vV=1t 2,/ Tsint /-1
ooo,
cott = +/—lcoth(v/—1t)=+v—1 . + i 2" Bom (vV—1¢t)*™!
V=1t =
1 0 m22mB2m o1
= ;+2: o
m=1
000,(1.8)00000. 000, tanh(y/—1t) =v—1tant 00O,
1 (22m — 1)22 By
tant = tanh(v/—11) T(V/—=1t)2m !
V1 - Z 2m)!
_ sy 1)22m32mt2m_1
(2m)!

3
I

oooo,(1.7) 000

Ooon

1] 0000,00000,0000000000D0C0O0DOOOOOOOOO.

2 0000000000000 O00ODO 90000,

t2m—1



